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OZAIIEE LH=A 20,000,000& = 14 20,000
[BFAId S22 AAER 385,501 300,000
201 et 83,393 0
01 At 22l 4,850 0
O+t 4,850
~HATBHAR LTOHY 7Y
270,000 1574 4,050
~HAXBHAS DATHY 7
40,0003 204 800
02 3322l 78,543 0
OA&ZHIKAH 78,543
— B2ATFEALE FXE 2|
1,094,042,900& *6%=*1. 1 72,207
~ DU WAAAH ST B4l
96,000,000& »6%*1. 1 6,336
202 oddl 2,108 0
01 = LH o4 1l 2,108 0
Oszlad ZSNHEPHE 220l
210,800& x2H x53] 2,108
207 A RO H| 300,000 300,000
02 & &R I 300,000 300,000
OZBUZEAMNAE D& 300,000,000& =14 300,000
i LAY (2URASAA) 106,831 15,382
ZHI (YA SAA) 106,831 15,382
2AH(UASAA) 106,831 15,382
201 L2l 32,425 436




S RIAZAA
B AR (UASA)
S J2Z (=2 ALA!) (&2 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
01 AFR2 22l Yl 30,716 30,580 136
Ogst2H| 25,340
—JISARES 7 100,000& =27 2,700
—JI2d3AEEH| 150,000& *13] 150
— SASA 7Y 20,000& 202k A x12& 4,800
—SA EYH 2 150, 000& *4CH x4 3] 2,400
—SAI EYE 2¢ 330, 0003 *4CH x23] 2,640
— 2A =4 500,000& *4CH x23] 4,000
—TZle EYH 2¢ 237,000& x10CH *33] 7,110
— A2 EHFEY 110, 000& *7CH x23] 1,540
OF=1=1:] 8,000& x14Y x43| x12& 5,376
02 33249l 1,709 1,409 300
O332=2 2 HA 1,709
—OIESAIY BM AIRE
37,400 13| & x12& 449
— QIRA 2BAG AIES 30,000& x12& 360
—HES=2HX HAEABHEANHA R2ES
2,500& x30E x12& 900
202 04| 69,600 55,680 13,920
01 2LHOHI 69,600 55,680 13,920
OLIASAA JI2gR F& 2
20,0003 *29H « 103 x12& 69,600
203 ¥R =& 4,806 3,780 1,026
04 ENSI IR =AY 4,806 3,780 1,026
ORN2II2F&Y| 445,000& *12& *90% 4,806




